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2.  
    

 

a) 
1 2,25 A,I =  

б) 0,66 .   
 

 

3.  
  

 

a) 4 4 4

1 2 3 1 20,      3 10  rad/s,     ,      0,52 10  rad/s,     1,93 10  rad/s,r r r a a    = =  →      

 

б) 

410  rad/s  
 

eX

1 20

1 0,52a = 2 1,93a =

2 1,73r =
1 0r =

3r →

 
 

в) 
max C max L20 2 V,     ,      2 5,46 A,     0.

2
C L LU I I


 = = = = =  

 

 

4.  
  

 

Амперметри у колу показују струје: 
 

 

1 1,4 AAI I= 
 
и
 2  2 4 A.AI I=   

 

Волтметри у колу показују напоне: 
 

 

1 1 224,6 VVU U= 
 
и

 2 2 56 V.VU U=   
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